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SECTION A (Answer ALL questions on a mark-reading sheet provided)
1 In 1921, Burgess proposed that which one of the following factors contrbute to social

disorganisation?

1) Weakened inner city zones and absence of common standards
2)  Weakened family structure and communal ties

3} Weakened community ties and a changing population

4)  Weakened sociological factors and high crime rates

2 According to Becker (1963}, deviant behaviour 1s a social product created by

Interactionism
Soclety
Labelling
Determinism

S R

(1)

3 The behavioural perspective offers explanations as to how individuals iearn by assoctation
Which explanation uses rewards and punishment to reinforce or curtall certain behaviours?

Operant conditioning
Social learning
Classical conditioning
Operant iearning

AL

(1)
4 Lumpenproletanat represents the  class

power
prestigious
working
cniminal

2Llrp=

5 The positivist school focuses on the nature and charactenstics of the

1} criminal event

2) individual offender
3) crnminal behaviour
4)  situational factors

(1)

6 The main strength of the differential association theory 1s that it shows that cnme I1s not just a
product of  but that it can occur in all settings

1) learned behaviour
2) poverty

3)  crnminal attitudes
4}  dehnquency
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Durkheim (1897) beheved that cnime 1s a/an  1n any society and Is therefore

complex structure, rational
abnormal phenomenon, rational
normal phenomenon, functional
adaptive function, normal

2L

(1)

Identify which two researchers showed that there 1s moderate evidence of both genetic and
environmental influences In antisocial behaviour

1)  Chnshansen and Lange
2)  West and Farnington
3) Rhee and Waidman
4)  Hutchings and Medwick

(1

Neo-classicists emphasise that a person 1s still accountable for his or her actions, but with minor
reservations Indicate which two (2) specific factors will influence an offender to reform

1}  Free choice and feeble-mindedness
2)  Rationahty and competence

3)  Cnme and punishment

4}  Past history and present situation

Disregarding the existence of threatening impulses 1s called

1)  displacement
2) demal

3) determination
4}  sublimation

(1)

Indicate which factor i1s associated with socral learning, and further states that behaviour 1s
shaped by the consequence that follows the act

Classical school
Psychological posittvism
Operant condiioning
Sociological positivism

2ol

(1)
What are Lilly et al (2007) referring to when stating that there is danger In rational choice theory?

1) Factors influencing offenders’ decision to break the law are tgnored
2)  Offenders will be treated as being solely rational decision-makers

3} Cnmnal justice policies only focus on making crime a costly decision
4}  Offenders’ social context Is not taken into consideration
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The Enlightenment philosophers worked towards  the inhumane criminal justice system

1)  protecting
2) reforming

3) debating

4)  encouragmg

(1)
Which one of the following factors Is an essential feature of Eysenck’s biosocial theory of crme?

1) Adoption studies

2)  Personalty

3)  Constitutional factors
4)  Genetics

(1)

Merton (1938) suggests that an integrated society maintains a balance between which two
elements?

1) Approved methods, culture
2}  Social structure, culture

3)  Cultural goals, objectives
4)  Social means, objectives

(1)

In relation to soclety’s reaction to anomie, which of the following modes of adaptation relates,
first of all, to the most common reaction, and secondly to the most deviant reaction of anomie?

1) Conformity and rebellion
2) Innovation and retreatism
3}  Conformity and innovation
4)  Ritualism and rebellion

(1)
Select an appropnate description for rebellion as one of the reactions to anomie

1)  Blocked economic opportunities
2)  Overthrowing the government
3)  Unauthorised squatting
4)  Economic dispanties
(1)

Which specific theory contends that certan changes in the modern world have provided
motvated offenders with a greater number of opportunities to commit crime?

1) Rational choice theory
2)  Routine activities theory
3)  Social learning theory
4)  Social bonding theory

(M
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Edwin Lemert, the interactiorist, indicates that primary deviance refers to  while secondary
dewviance refers to

1)  imtial deviant behaviour, repeated deviant behaviour
2)  commission of the cnme, visible cnminal behaviour
3) initial deviant behaviour, stigmatisation of the person
4)  opportunity to commit crime, labelling the individual
(1)

Various theories have attempted to link neurophysiological factors with crnime, but they reman

1) Unscientific

2)  Contaminated
3) Unrealistic

4)  Unsubstantiated

(1)

Who 1s the person responsible for diminishing the popularty of biological and psychological
explanations of crme?

1) Hirschi

2) Beccana
3}  Sutherland
4) Lombroso

(1)

The routine activity theory argues that a person’s lifestyle influences the opportunity for crime
because it controls a person’s

1)  Decision-making process
2)  Exposure to crime

3)  Ability to be protected

4)  Participation

(1)
Psychodynamic theories observe the

1) learning and cognitive processes that lead to criminal behaviour

2)  thought processes of the individual and how it Influences behaviour
3)  unconscious behaviours that are believed to cause criminal behaviour
4)  belief that thought and emotions are causes of criminal behaviour

(1)

Which theory fits the following description? The inability of a community structure to realise the
common values of its residents and mamtamn effective social control

1)  Social disorganisation ,
2)  Anomie

3}  Differential association

4)  Social bonding
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25  Which one of the following can be regarded as a core principle of the biosocial theory?
) ltonly recognises genetics as the main contributing factor in human behaviour

) Allhumans are born with equal potental to learn and achieve
)
)

Individual behaviour patterns are produced by genetic traits and the environment

]
2
3
4 Biosocial theorists believe that biclogy leads 1o crime

SECTION B. Answer THREE questions  ONE 25 mark question,
ONE 15 mark question; and

ONE 10 mark question
Answer one question (Number your answers exactly as they appear on the question paper)
1) Present a detailed discussion of the radical conflict perspective as well as its contrbution to
cnminology (25)
2)  Present a detaled discussion of Hirschi s social bonding theory that focuses on explaining
delinquent behaviour (25)
Answer one question (Number your answers exactly as they appear on the queshion paper)
3)  Discuss how the three (3) segments of Becker s response approach can explain criminal
behaviour (15)
4)  Indicate how certain neurophysiclogical factors can contribute to cniminal behaviour (15)

Answer one question (Number your answers exactly as they appear on the question paper)

5)  Discuss how the social disorganisation theory, as interpreted by Shaw and McKay, can explan

delinguent behaviour {(10)
6)  Brefly discuss the assumptions of the Positivist schoot (10)
(50]

Tatal: 75 marks
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MARK READING SHEET INSTRUCTIONS

Your mark reading sheet 1s marked by computer and should therefore be filled in thoroughly and
correctly

USE ONLY AN HB PENCIL TO COMPLETE YOUR MARK READING SHEET
PLEASE DONOT FOLD OR DAMAGE YOUR MARK READING SHEET

Consult the llustratron of a mark reading sheet on the reverse of this page and follow the nstructions step by
step when working on your sheet

Instruction numbers 1 to @ refer to spaces on your mark reading sheet which you should fill in as

follows

0 Write your paper code 1n these eight squares, for instance

PI{SIY|[{1|O0[O0]-(X

®

The paper nimber pertains only to first-level courses consisting of two papers

WRITE | O | 1 | for the first paperand { O { 2 | for the second If only one paper, then leave blank

Fill in your inrtials and surname
Fill in the date of the examination

Fill in the name of the examnation centre

Q000

WRITE the digits of your student number HORIZONTALLY (trom left to nght) Begin by filling 1n the

first digit of your student number i the first square on the left, then fill in the other digits, each one n a
separate square

0

In each vertical column mark the digul that corresponds to the digit in your student number as follows
[-]
WRITE your umque paper number HORIZONTALLY

NB Your unique paper number appears at the top of your examimation paper and consists only of digits
(e g 403326)

()

@ In each vertical column mark the digit that corresponds to the digit rumber tn your unique paper
number as follows [-]

L10] Question numbers 1 to 140 indicate corresponding question numbers m your examination paper The

five spaces with digits | to 5 next to each question number indicate an alternative answer to each
question The spaces of which the number correspond to the answer you have chosen for each questton
and should be marked as follows [-]

’ For official use by the imvigilator Do not fill in any information here



